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(1) Z2f5l— : & LinkedList IR B{TEIR

import java.util.LinkedList;

public class LindedListDemo1 {

public static void main(String[] args) {

LinkedList<String> list=new LinkedList<String>();
[/ ERA NS
list.add("apple");
list.add("pear");
/[ EEHERINEHEERRYTTA
list.addFirst("banana");
/1 EEHERINEHEERRIARE

list.addLast("grape");



/[TEIEEMELRINEYE | F—12809index(5 , NOFFIA
list.add(2, "orange");
/[ BERPRIFTE AR
System.out printin(list);
/FIFIRPREEEEENTR | FHEHENER
boolean flag=list.contains("grape");
if(flag){

System.outprintin("grapetkZ| 7 ! ");
lelse{

System.outprintin("grapei&E| ! ");
}
//iRElindex{E/93RIEUEH
System.outprintin("index{E/930953ER : "+list.get(3));
/REIFE—TTER
System.outprintin("S5—NJt= /8 : "+list.getFirst());
/RERE—1TTE

System.outprintin("&5—"~Jt= /9 : "+list.getLast());



[banana, apple, orange, pear, grape]
grapekEI T !

index{E93098EEN : pear

E—1 0= : banana
Efe—1JT&N : grape

(2) 21— : (&M LinkedList XWEEN KH{TE=TE
Student £ :

package com.linkedlist;

public class Student {

private String stuNum;

private String stuName;

private int age;

public Student(String stuNum,String stuName,int age){
this.stuNum=stuNum;
this.stuName=stuName;
this.age=age;

}

public String getStuNum() {
return stuNum;

}

public void setStuNum(String stuNum) {

this.stuNum = stuNum;



}

public String getStuName() {
return stuName;

}

public void setStuName(String stuName) {
this.stuName = stuName;

}

public int getAge() {
return age;

}

public void setAge(int age) {
this.age = age;

}

@OQverride

public String toString() {

return " [Z5 : " + stuNum + ", % : " + stuName + ", TFig : "
+ age + ll]ll;

}
}

LinkedListDemo2 2§ :
import java.util.LinkedList;

public class LinkedListDemo2 {



public static void main(String[] args) {

LinkedList<Student> stulist=new LinkedList<Student>();

Student stul=new Student("001","Mike",18);

Student stu2=new Student("002","Jack",20);

Student stu3=new Student("003","Lucy",19);

/I FERINRNER | fERpushFepk

//LinkedList=CHiListEORIERY , B 7 Queuezl

//pushFIpopHEEXIQueueFH TR IIFIE HEHEATEERY

stulList.push(stul);

stulList.push(stu2);

stulList.push(stu3);

System.outprintin("§&5&/9 : "+stulist);

/[EHE— TR | XEALUEHRER— 1S , Sl A\ZSERAVEEE
[E3EE

//HHERIIRN R et fE

System.out.printin("S#HAYEWEYY : " +stulist.pop());

System.out printin("ABpop()/5iAERIER /D : \n"+stulList);

//peek(TTiZSREFHF AEIRITR

System.out printin("EAFEpeek()/FIERIEEE S : "+stulist.peek();

System.out printin("Epeek()/5iA/GRIHEERS  \n" +stulist);

//BIXERpop(3i& , KEERpop( 5 AEEIEMRERTEIRT | M
peek(TiEAS



System.out printin("EREMpop()75i&" +stuList.pop());
System.outprintin("B XA pop()/FiEEHIHEER S : \n" +stulist);
/TR BEIMAMITER

stulList.push(stu2);

stuList.push(stu3);

System.outprintin("BIRFINTTEERHERS : \n"+stullist);
/ERpoll073i%

System.out printin("fEARpoll()/FixktEITR" +stuList.poll();
//BRpoll) 75 ER3RE T =R RS MR IR T It

System.out printin("JEABpoll()5iEEaI5ER I : \n"+stulList);

}
}
BITERA

HEER  [[ZE 0 003, B8 Lucy, & 0 19], (325 1 002, #45 : Jack, & - 20], [FE: 001, #45 - Mike, 528 : 18]]
RS © 322 003, #5 : Lucy, & 1 19)

ERpop(FEEHEER

[[Z25 : 002, ¥ : Jack, &= - 20], 322 : 001, 5 : Mike, &5 @ 18]]

Epeek(TEREEEN © 325 1 002, #:5 : Jack, & : 20]

ERpeek(FTEEHIBEER ¢

[ (S : 002, #5 : Jack, &4 1 20], [55 : 001, #55 : Mike, &2 - 18]]

EiABpop(75iE [F2 : 002, ¥4 : Jack, & : 20]

EARpop(HiEEREEER |

[ 225 : 001, #4545 : Mike, &4 : 18]]

BRGITEENsEER ¢

[[Z5 : 003, #55 : Lucy, &= © 19], [Z2E : 002, #8 : Jack, & - 20], S 001, #45 : Mike, & : 18]]
EApoll(7FEaHTTE [522 : 003, B8 : Lugy, &8 : 19]

ARBpoll)FEEREE |

[[ZE : 002, ¥5 : Jack, &5 - 20], [ZE : 001, 5 : Mike, &5 : 18]]



